
Year 2 

Mental Maths 

 

20 ÷ 2 =                       2 x 1 = 

 

29 + 46 =                     42 – 20 = 

 

15 + 30 =                     71 - 27  = 

 

This week’s Maths focus is: Fractions 

https://www.bbc.co.uk/bitesize/topics/z3rbg82 You might like to 

watch these lessons on Fractions to support your learning   

Some useful things to remember: 

We can use our division work from last week to help us! 

   

 

 

 

 

 

When you divide, the parts must be equal. If the parts are not equal, go back 

and check your counting. 

The bottom part of the fraction 

(denominator) tells us how many parts we 

need to divide into.  

 

The top part of the fraction (numerator) 

tells us how many of those parts we need to 

look at. 

https://www.bbc.co.uk/bitesize/topics/z3rbg82


 

 

¼ of 16 = 

 

 

Circle half of the amount below. 

 

One fifth of 20 = 

¾ of 24 = 

 

Colour in the fractions for each 

shape below. 

 

 

 
Half of 70 = 
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Draw lines to divide the 

rectangle into quarters. 

Use the dots to help you. 

 

 

 

  

  

 

 

 

 

 

 

 

Gretel had 20 sweets.  

She gave two fifths of them to her brother. 

How many sweets did she have left? 

¼  ¾    

One third 

Two 

quarters 

Jim ate half a pizza. 

Which fraction shows the amount he ate? Circle it. 

 

    sweets 



 

 

 

 

 

 

 

 

 

 

 

 

Challenge:  

Read each statement, show your working and then circle your answer. 

Which is greater?     ½ of 20 or ¼ of 16? 

 

 

 

Who has more?      Sarah has ½ of £24 and Tom has ¾ of £20  

 

 

 

 

Tick the shape that has exactly      shaded. 

 



Which is smaller?     ¼ of 28 or 1/3 of 18? 

 

 

 

Which is longer?       ¾ of 16m or 2/3 or 21m? 

 

 

 

 

 

 


